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C-256
B.Com. (Part-II) Examination, 2022

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - I

(Financial Management)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@us-3) (3® : 2 x 10 = 20)
e - ol @ T & SW SIS (SW-HE 50 IR) | TAF T 2 IF R
Section-B (Marks : 8 x 5 = 40)
Note .— Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(TUE-=) (37 : 8 x 5 = 40)
FE - W H G fFEE U T % SW S (W 200 ) | T TA 8 5
Al
Section—C (Marks : 20 x 2 = 40)
Note .— Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@us—a) 37k : 20 x 2 = 40)

Me - OIRE Y FEE QU & W SIS (|- 500 I5) | TIF G 20 FF F1 S|
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Section—A (@WUS-3)
1. (@ What is Finance Functions ?
o« ¥ F1 TWE T ?
(i1)) What are Fixed Assets ?
TRl wefa & e ¥ 2
(ii1) What is meant by Financial Statement ?
foxitar foemor @1 s ¥ 2
(iv) What is meant by liquidity ?
T T 1 ARE T 2
(v)  What do you mean by operating cycle period ?
RETeH W SEfy ¥ 9w THe § 7
(vi) What is break-even point ?
TAfges fog = ¥ 2
(vil) What is Economic Order Quantity (E.O.Q.) ? Write formula.
AR STRY "= F= T 7 gA fafem)
(viii) What is Profitability Index ?
NS FARH FT & 2
(ix) Give o examples of non-current assests.
3 =] Tl & sern |
(x)  Give rwo limitations of cash flow statement.

Uk Yae faeror =i & HHd saE |
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Section-B (@US-)

2. Discuss the objectives of Financial Management.
foxitar yory & vl w1 foee=m wifsu)

3. From the following conventional balance sheet of Satyam Ltd. for the year ended

31st March, 2021. Prepare common size balance sheet for analysis :

oy fafies & 31 A, 2021 1 T 84 a1l 98 § = fag 9 favesmr g amEeR

fagr TR wifeT .

Satyam Ltd.
Balance Sheet

as on 31st March, 2021

31st March, 2021

Particulars Note No.
()
I. Equity and Liabilities :
(i) Shareholder’s Funds :
(@) Share capital 30,00,000
(b) Reserve and Surplus 4,00,000
(ii)) Non-current Liabilities
Long-term Borrowings 10,00,000
(ii1)) Current Liabilities
Trade Payable 6,00,000
Total 50,00,000
II. Assets : S
(i) Non-current Assets :
Fixed Assets :
(@) Tangible Assets 30,00,000
(b) Intangible Assets 6,00,000
(ii)) Current Assets :
(a) Inventories 10,00,000
(b) Cash and Cash 4,00,000
Total 50,00,000
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4. The trading results of Raj & Co. for the last two quarters are :

TS TOE &, & fora 1 famifesi & samaifier aoms 39 9o € ¢

The quarter ended Sales ) Profit (3)
June, 2020 25,000 5,000
September, 2020 37,500 10,000
Calculate :

(@) Profit Volume Ratio

(b) Fixed Costs

TOAT HIfSY ¢
(1) TH-AEAT ST
(F) T ArT

5. Compute the inventory turnover ratio with the help of the following figures

relating to Sumitra Stores :

it ©E ¥ geafa fefafed THe S 98 8 e STEd ST hi T i

)
Opening Inventory 15,920
Purchases 39,000
Carriage Inwards 1,000
Gross Profit 36,480
Revenue from operations 78,000
Closing Inventory 14,400
6. “Financial planning is the key to successful business operations.” Explain.

“foeira i oRa smaEifad wrE wt gt 717 9EEET
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7.  Calculate the economic order quantity from the following :

frfafed faaxo & i eer w1 T HIST
Annual requirement

Cost of materials

Cost of placing and receiving one order

Annual carrying cost of inventory, 10% of inventory value.

8. What is internal rate of return method ? Explain.
A=ier g@ma X fafy = & 7 wHemsw
Section—-C
(TUs-7)
9. From the following data calculate :
(1) Profit volume ratio
(ii))  Break-even point
(ii1)) Margin of safety and profit
frafafaa sitwst @ oA HST

(1) ST SMYH-HEAT 3T

(i) wwfa=g fog

(iil) g Ho qen oy

Direct Material

Direct Wages

Variable factory overhead

Variable administration overhead
Variable selling and distribution overhead
Fixed overhead

Unit sold 1000

BR-48 C 5 )

1,600 units

< 40
% 50

% 20,000

% 16,000

25% of wages

10% of factory cost
% 4 per unit

% 8,000

@ X 64 per unit
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10. XYZ Co. is considering the purchase of one of the following machines, whose

relevant data are as given below :

XYZ wet fefafea aeial, 59 gt g9 = fer w4 9 e w9 w5y
A T foER W W R

Machine X Machine Y
Estimated life 3 Years 3 Years
Capital cost % 90,000 % 90,000
Earnings (after tax) -
Year — 1 < 40,000 % 20,000
Year — 2 % 50,000 % 70,000
Year — 3 < 40,000 % 50,000

The company follows the straight line method of depreciation, the estimated
salvage value of both types of machines is zero. Show the most profitable

investment based on :

(i)  Pay-back period

(i)  Average rate of return

HIET g T W T IS0 ST §, S IR T A 1 ST qod 9 T
(i) Rl sEfty fafy

(i) o= T

% N T et vye fafEm sHEe

11. Balance sheet of Mohan & Sons as on 1st April, 2020 and 31st March, 2021 were

as follows :
e [0 99 & 1 a1, 2020 der 31 94, 2021 & f93 ew YR © :
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Liabilities 31-3-2021| 1-4-2020 Assets |31-3-2021 |1-4-2020
() () () ()

Creditors 44,000 40,000 | Cash 7,000 10,000
Mrs. Mohan Loan — 25,000 | Debtors 50,000 30,000
Loan from Stock 25,000 35,000
P.N. Bank 50,000 40,000 | Machinery 55,000 80,000
Capital 1,53,000 | 1,25,000 | Land 50,000 40,000
Building 60,000 35,000

2,47,000 | 2,30,000 2,47,000 (2,30,000

During the year a machine costing ¥ 10,000 (accumulated depreciation ¥ 3,000)
was sold ¥ 5,000. The balance of provision for depreciation against machinery
as on 1st April, 2020 was ¥ 25,000 and on 31st March, 2021 ¥ 40,000. Drawings
for the year 2020-21 amounted to ¥ 17,000.

You are required to prepare :
(@)
(i)
79 H ¥ 10,000 T @O T WA (THEE = T 3,000) 5,000 H S W= AL

R g & U waem 1 9w 181, 2020 ®1 T 25,000 9 31 |, 2021 1 T 40,000
a1l =8 2020-21 & faw emetor T 17,000 A1

AT
()  wEEia gt @ faeRer qen
(i) = varE fom
TR T R
BR-48 ( 7 )

Statement of change in working capital and

Funds flow statement
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12. The capital structure of Kalpana Ltd. is as under :

Heql fot. w1 doll T 39 YER T

(%)
2,000 6% debentures of ¥ 100 each (First issue) 2,00,000
1,000 7% debentures of ¥ 100 each (Second issue) 1,00,000
2,000 8% cumulative preference share of ¥ 100 each 2,00,000
4,000 Equity share of ¥ 100 each 4,00,000
Retained earning 1,00,000

The earnings per share of the company in the past many years has been ¥ 15. The
shares of the company are sold in the market a book value. The company’s tax
rate is 50% and shareholders personal tax liability is 10%. Find out the weighted

average cost of capital.

T HE AU W HEA B AR S A T 15 T AR H FEA H S [E oA W
I T ¥ | KA BT TR F R 50% § q9 ST Y AR 2F W FR A
10% %1 WRifehd eied ISt T AFTT S it |
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